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Math 20-1

Name: %

Quadratic Functions and Equations
Assignment 1: Connecting Zeros, Roots and x-intercepts

1. The graph of a function f is shown.
a. State the x and y intercepts of the graph.
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b. State the zeros of the function of f
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2. _Find the roots of the following equations.

& (opy
9raph
onto

Yo

Cop:j.

a.2x(x+3)=0
/ 0\
Jdx=0 Xt3=0
x>0 XK= -3
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b.2x2 -10x+12=0

3 (X% Sxtb)=0
(X~ 3)(x-a\ =0
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3. Find the zeros of the following functions.

af(x)=5+5 b. g(x) = 25x% — 64
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4. In each of the following:
i. Determine the zeros of the function

ii. Determine the y-intercept of the graph of the function
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a. f(x) = 5x% —35x

b. f(x) = 3x(x? —49)
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5. Use a graphing calculator to find the zeros (as exact values) of the following functions.
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7. Use a graphing calculator to write the equation in factored form.

a f(x) =18x%*-5x -7
jagh Y = \8x>- Sx -1

b. g(x) = 3x3 - 11x% + 6x
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In each case, the graph of the function with y = f
graphs are integers. Determine:

o The zeros of the function

e The y-intercept of the graph of the function
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(x) is shown. The x and y- intercepts of the
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